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SECTION II: USAGE
Questions: 28 - 55

Directions: This section consists of a number of incomplete statements, each of which has
four suggested completions. Select the word or phrase that best completes the sentence
structurally and logically.
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-END OF SECTION II-
-GO ON TO SECTION III-




SECTION III
Reading Comprehension
Questions: 56 - 81

Directions: Read the following selections carefully for comprehension. Each selection 1s
followed by two or more questions or incomplete statements based on its content. Choose
the answer or completion that is best according to the selection and fill in the
corresponding oval on the answer sheet.

Read the following passage and answer questions 56, 57, and S8.

e A=A gold #2249t Al F E2d 2 A€ f=er ] 7H4

#zv 4= 28 28a T GAE L AU

A7 AAA T, A o] ®e)vt FFoleE A A AHE #Z e ao] 237
2AHE ohg-2 ZHA A YT
g o o] 2o e, TopH A, Boju, AR EEH #ZLE oo E
e 2 Qguth an #Zgzo A Be FF017 AR EEH U
ARHFE FLF FaolFE A ASTREUT

aglm o HERG ATULE, ALE SR TE FEEA

aze Lol i Rd S ZAE) EF% GAE FAT T ARE T

56. What seems to be the best title of the passage?
A) American born children
B) The excellence mn Korean culture
C) The history of the Korean language
D) The benefits of attending a Korean school

57 How did I feel about going to the Korean school at first?

A) Excited
B) Unhappy
C) Thankful

D) Surprised




58. According to the passage, the following statements are true EXCEPT
A) The writer became proud of Korean culture and history.
B) The writer identifies him/herself as a generation of Korean.

C) Korean is a tool that unites the writer with his/her relatives.

When visiting Korea, the writer communicated with his/her relatives in Korean.

Read the following flyer and answer questions 59 and 60.

K - Pop & &7

A K-Pop & 5] Hh}eo
sde AR RS T #2 8 Fote] FAEYUTH
22]9) Zo] @FA% FZEFE HARAL.
#= AFE WL 5 Yol e

A Fods TP FAAT 12:00~12:45

ojt]: g4# 22354

7 EEHAE

2rk 7 &

@A ol oE L. <www.k-pop.edu.com>

59. What 1s the flyer about?
A) Buying Korean CDs
B) Introducing a K-Pop club

C) Teaching how to use the Internet

D) Sharing the location of the CD store.

60. Which is correct according to this advertisement?
A) A fee is required.

B) There are two meetings a week.
C) The best way get in contact is through the phone.
D) Only Korean students are allowed to participate.

Read the following advertisement and answer questions 61 and 62.
27149 M B8 EATUS

. B3R RT2NB
. ¥R1UnY
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o A7FAF-19109 3430 E74A

aRe Ash) EANAAS § FAD, e FHILY ARE 9
Z A7 v ARR 5 oh7224 YTk




61. What is the advertisement for?
A) Askitrp
A fishing trip
A visit to a museum
A tour to a mountain

62 What information is missing from this advertisement?

A) The registration fee

B) The destination of the trip

C) The bank account number

D) The contact phone number

Read the following passage and answer question 63.

A) 0] g1od 4 &o| ATA KL,
Ago] glod A4 E BHEA %3,
A7) gled Aol AR %3,

3 So] Wasix £}
7k},

AE°] 29 71,

Z71E A el 1A AL,

AW A REC] EFIHAT




Read the following passage and answer question 64.

AArZrgetd] & aHA 87 eyt

AAH2re sro.z Az el Wl s BAA & Atke S E shi
gtk

| s oo g etz 7 AAG Y] o gyt

o7 e) g&eE A2 7 AAZgo] 2 AEUT
2209 A1ZelE AAFel s} 2ol YT

64. Which diagram reflects the above description?
A)




Read the following passage and answer questions 65, 66, 67, and 68.
AFPBAAE 1250l oldlge FI T W= AAHF 2 o 97} 2 8.

27, Pao] 28 PaAste ohgel AkA7] 471 Wz 7t @ & &A, a3l
pAN Q. B4, o)vY FagosE B A FT7UA € + i W7t

g o] st=A] Bolo] F7AA wdUth AA, ERARE ZFALA o] AR B i
AA AR S FE (0ol $A SESTATH UA, GO = € EFT
gedz 28 Fago A 2a A2 ARG =AAA T F Ao, A=
g9 Aee 2E AL NHA L. A, EE B 2=5 A2 GAA,
ool Blgata] e 24 HY g Bl AL AT

65. Which would be the best title for the passage above?
A) Internet Bullying
B) Privacy And Email
C) Email Etiquette Rules
D) Benefits of Using Email

66. Why is it suggested to write a brief and clear email message?
A) A long email takes too much time to send.

B) A long email can be discouraging to read.

C) A short email contains a positive message.

D) A long email is reconsidered to be a Spam mail.

67. Writing an email in capital letters is NOT recommended because it gives the

impression that
A) you do not know the rules of capitalization.
B) you do not know how to write in lower case letters.
C) you are shouting and it might trigger an unwanted response.
D) you are not familiar with using the Caps Lock key on the keyboard.

68. The passage includes the following statements EXCEPT
A) Identify the sender by writing the subject.

B) Refrain from sending unwanted Spam mail.
C) Ignore grammatical rules on writing emails.
D) Send complaints directly only to the person involved.




Read the following passage and answer question 69.

Sl AEAT 7t QRS 90] A0 AP BrFeH A, AFRAE
dE = e TR AEsRsl A 8 Fusslth EvHEd Had
AEdR7 s A 284 A Fobata, dy 22EA AL BelE

Ag golste #2AY B4 Mol gt

69. <A Edll 77~
A) Is expensive.
B) Lacks variety and selection.
C) Takes time to place an order.
D) Reflects the Korean nature.

Read the following passage and answer questions 70 and 71.
7t A o] SAEUTh Bl & mhel st izt A HolE FeluleE

AF U o= Aol A ob7l7h €1 AREU T FrkE +E °WIE g7
98 g 2 ARETH
29 Sdj7t Felth”
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«7%A €8 ZFo|7t FetHerh”
afE o7l A% eV

«od 7] 7ol Ah”
28R o7l 222 = aASUT TPt et HE &S A A o4
o}7]7F 27 olob7] B 21 2 8& T AR, FFelE 22 A7 2o
2L Bojol 2 stk 1AM FAE FZA §7H A2l

=AUt A4S 2L BIE 499 TRUS

70. Why did the tiger come to the village?

A) To show off its mane
B) To see what the people were doing
C) To find food because it was hungry

D) To make friends with other animals because it was lonely




71. Why did the tiger run away from the house?
A) The baby kept on crying.

B) The mother would bring a wolf.
C) The tiger was scared of the dried persimmon.
D) The tiger was eager to eat the dried persimmon.

Read the following passage and answer questions 72, 73, and 74.

12924¢ ELY

o 5L HZo] 944 Hg BE Aejxrks o|Helr agAG RAES ¢ FL
golitt oz A7 AEo]A 2F 549 ghi}7| 2 ok&o] o glo] A E
gir} @A) $A7IA} ol ANA AELE FHAL foE 2% s AL E 3T
224 FLAZ] ol =R ARATFE #A7F 2ol 4 2F I L=
FAATE oA 7 3k Eoke e Aol FH nEd ExErt AeLvhs
olB 7 174 vjEdE &7l A9 Fol UM 2 ghgk Aol gt Bt T
20] Aleks} epAEte] 4 5 gtk BRES €L BAE FA I8

BAA 0 AR AR

oh £2 Wela, & ATFE 7 A FF HE A, B A= gl L= 3ok

72. Why was this person late for the date?
A) The taxi driver couldn’t drive fast enough.
B) He misunderstood the time of his appointment.
C) He misunderstood the location of his appointment.
D) The taxi driver was confused about the destination.

73. Why did he buy eggs and ramen?
A) Because he did not have enough money.

B) Because he needed only eggs and ramen.

C) Because he wanted to eat eggs and ramen.

D) Because the market did not have enough items he wanted.

74. He thought the day was bad because
A) He lost his door keys.
B) He has nothing to eat.

C) Taxi fare was more expensive than he expected.
D) He could not find the items that he wanted at the market.




Read the following passage and answer questions 75 and 76.
googol o] @ @oj= eyl A4 34} o] F< Google A g 94 R&r

A AZ Google ] & 3]A} 0| &£ googol ©1 2 £A2] °lFIA FAHAT
#t}. googol & AR EC] JFLEREF AE XA T AR RAe| .
102 00 & 7lela 100 & 0 °] 5 A, B & 0 o] G4 Al a8y
googol & 0 °] 8 Aolth. A7 o] 2 2AE A 7 AE ApEE ol
fith.

meo 7= geoje] A At million ol F Toi7k 1 & it o}
googol & 7] =°] 487 Edward Kasner ] 9 zpe] Z7bol] 93] 1938

olF A A xAelth

75. What is the correct description of googol?
A) It has 100 zeros.

B) It originated from Latin.

C) Googol was named by Dr. Kasner.
D) It is the name of an internet search service company.

76. What is the correct order of the numbers from the least to the greatest?
A) v-3H-41-9-googol
B) 4]-9-3F-¥gt-googol
C) -9z Rkgoogol
D) Ll

Read the following passage and answer question 77.
A= 2 B9 Q%] 9E A57F ged saE 2718 ¥ 7HEA

azat. _ #e %ol Fel, 271E A7) e dse Al
zasr) 294 37 48AE A7k Az GES FAFA, T AF

# FAe Aske Aol 712AA Folth

A, B8




77 Which of the following proverbs is suited best in the blank?
A) H=o e AT

B) 24 ¢l 9Pt nAct

C) @%o] £olEt=E LU

D) &% ZopA ¥ EME EFEET

Read the following passage and answer questions 78 and 79, and 80.

PR EET
A\ Z Q) AAE ES oHEUELE HED A8 AUES WA el A FA
Ao A= QUG oFEWE} FATEE S A0} FRE AT 28]
0] B8 2AE =9 A8 AQES aEAAANG 2ESTHELE
e 0778 ARRATHT itk NF gHE % AT HAE A=
gog gAY D 20 2489 BharE 1At A B 2AE

=elmA FesA 718 HTh

SEERL

78. Mr. Park thanks Ms. Kang for her
A) tour guides to universities i Atlanta
B) presentation on businesses in Atlanta
C) hospitality and guides for his city delegates
D) serving of very impressive food for himself

79. Mr. Park
A) was not one of the visitors to Atlanta

B) helped Ms. Kang to guide the delegates

C) visited Atlanta along with the city delegates

D) stayed in the hotel while Ms. Kang guided the visitors

80. Mr. Park looks forward to
A) Ms. Kang’s visit to his city
B) visiting other places than those two places

C) wisiting and meeting Ms. Kang the following year
D) receiving Ms. Kang’s e-mail reply along with photos




Read the following passage and answer question 81.
A) obHd & $A43 g 712AY

£ 2 2 o) AE o] Fo] Aozt

81. Which word would fit in the blanks?
A) 234
B) ojmd
o %Ed
D) 444

-THIS IS THE END OF THE TEST-




